
T-8452D-405

43

S. / Thread wiper mechanism

29

15

27

16

17 17

26

21 25
19 24

28

20

28

22

29

24

25

18

23

3

12

14

11

10

13

30

8

1

6 7

T-8452D



S. 扫线装置 / Thread wiper mechanism

参照号 零部件序号 数量 零部件名称 NAME OF PARTS RM

1 SB9910001 1 扫线电磁铁组件 THREAD WIPER SOLENOID ASSY

3 SA7235001 1 电磁铁缓冲垫圈 CUSHION SOLENOID

6 062300616 2 螺钉 M3X6 SCREW PAN M3X6
7 026030233 2 垫圈 M3 WASHER PLAIN M 3
8 SB4155001 1 线夹 BAND

10 SB4105001 1 电磁铁安装板 SOLENOID HOLDING PLATE
11 SB4104001 1 电磁铁盖 SOLENOID COVER
12 060400516 2 螺钉 M4X5 SCREW BIND M4X5
13 062501016 2 螺钉 M5X10 SCREW PAN M5X10
14 S25456001 1 柱塞销 PLUNGER PIN
15 SB4333101 1 扫线连杆组件 THREAD WIPER LINK ASSY
16 SB4213101 1 扫线连杆支架 THREAD WIPER LINK SUPPORT
17 SB7015001 1 扫线连杆C组件 THREAD WIPER LINK C ASSY
18 S07550001 1 连接板轴 LINK STUD
19 SA2504001 1 紧圈 SET SCREW COLLAR
20 012500536 2 螺钉 M5X5 SET SCREW SOCKET (FT) M5X5
21 SB4210001 1 定位板 STOPPER
22 062500816 2 螺钉 M5X8 SCREW PAN M5X8
23 SB3849001 2 平垫圈 M5 WASHER_PLAIN_M_5
24 S07552101 2 扫线器架 THREAD WIPER SUPPORT
25 062661212 2 螺钉 SM3.18-40X12 SCREW PAN SM3.18-40X12
26 SA2684001 1 弹簧 THREAD WIPER SPRING
27 062501016 2 螺钉 M5X10 SCREW PAN M5X10
28 SB4124001 2 扫线器 THREAD WIPER
29 S07424001 2 螺钉 SM3.18X4 SET SCREW, W/SOCKET SM3.18X4
30 SB4211101 1 电磁铁连杆 SOLENOID LINK

T-8452D-405
44

T-8452D



T-8752D-405

43

S. / Thread wiper mechanism

29

15

27

16

17 17

26

21 25
19 24

28

20

28

22

29

24

25

18

23

3

12

14

11

10

13

30

8

1

6 7

T-8752D



S. 糸払い関係 / Thread wiper mechanism

REF.NO CODE Q'TY 品名 NAME OF PARTS RM

1 SB9910001 1 イトハライソレノイドクミ THREAD WIPER SOLENOID ASSY

3 SA7235001 1 ソレノイドクツシヨン CUSHION SOLENOID

6 062300616 2 ナベコ3X6 SCREW PAN M3X6
7 026030233 2 ヒラザガネミガキ3 WASHER PLAIN M 3
8 SB4155001 1 バンド BAND

10 SB4105001 1 ソレノイドホジイタ SOLENOID HOLDING PLATE
11 SB4104001 1 ソレノイドカバ- SOLENOID COVER
12 060400516 2 バインド4X5 SCREW BIND M4X5
13 062501016 2 ナベコ5X10 SCREW PAN M5X10
14 S25456001 1 プランジヤピン PLUNGER PIN
15 SB4333101 1 イトハライリンククミ THREAD WIPER LINK ASSY
16 SB4213101 1 イトハライリンクササエ THREAD WIPER LINK SUPPORT
17 SB7015001 1 イトハライリンクCクミ THREAD WIPER LINK C ASSY
18 S07550001 1 リンクジク LINK STUD
19 SA2504001 1 セツトカラ- SET SCREW COLLAR
20 012500536 2 アナヒラ5X5 SET SCREW SOCKET (FT) M5X5
21 SB4210001 1 ストツパ STOPPER
22 062500816 2 ナベコ5X8 SCREW PAN M5X8
23 SB3849001 2 ヒラザガネチュウ5 WASHER_PLAIN_M_5
24 S07552101 2 イトハライウケ THREAD WIPER SUPPORT
25 062661212 2 ナベコ318-40X12 SCREW PAN SM3.18-40X12
26 SA2684001 1 イトハライバネ THREAD WIPER SPRING
27 062501016 2 ナベコ5X10 SCREW PAN M5X10
28 SB4124001 2 イトハライ THREAD WIPER
29 S07424001 2 トメネジ3.18 SET SCREW, W/SOCKET SM3.18X4
30 SB4211101 1 ソレノイドリンク SOLENOID LINK

T-8752D-405
44

T- 8752D



T-8722D-405

39

R. / Thread wiper mechanism

29

15

27

16

17 17

26

21 25
19 24

28

20

28

22

29

24

25

18

23

3

12

14

11

10

13

30

8

1

6 7

T-8722D



R. 糸払い関係 / Thread wiper mechanism

REF.NO CODE Q'TY 品名 NAME OF PARTS RM

1 SB9910001 1 イトハライソレノイドクミ THREAD WIPER SOLENOID ASSY

3 SA7235001 1 ソレノイドクツシヨン CUSHION SOLENOID

6 062300616 2 ナベコ3X6 SCREW PAN M3X6
7 026030233 2 ヒラザガネミガキ3 WASHER PLAIN M 3
8 SB4155001 1 バンド BAND

10 SB4105001 1 ソレノイドホジイタ SOLENOID HOLDING PLATE
11 SB4104001 1 ソレノイドカバ- SOLENOID COVER
12 060400516 2 バインド4X5 SCREW BIND M4X5
13 062501016 2 ナベコ5X10 SCREW PAN M5X10
14 S25456001 1 プランジヤピン PLUNGER PIN
15 SB4333101 1 イトハライリンククミ THREAD WIPER LINK ASSY
16 SB4213101 1 イトハライリンクササエ THREAD WIPER LINK SUPPORT
17 SB7015001 1 イトハライリンクCクミ THREAD WIPER LINK C ASSY
18 S07550001 1 リンクジク LINK STUD
19 SA2504001 1 セツトカラ- SET SCREW COLLAR
20 012500536 2 アナヒラ5X5 SET SCREW SOCKET (FT) M5X5
21 SB4210001 1 ストツパ STOPPER
22 062500816 2 ナベコ5X8 SCREW PAN M5X8
23 SB3849001 2 ヒラザガネチュウ5 WASHER_PLAIN_M_5
24 S07552101 2 イトハライウケ THREAD WIPER SUPPORT
25 062661212 2 ナベコ318-40X12 SCREW PAN SM3.18-40X12
26 SA2684001 1 イトハライバネ THREAD WIPER SPRING
27 062501016 2 ナベコ5X10 SCREW PAN M5X10
28 SB4124001 2 イトハライ THREAD WIPER
29 S07424001 2 トメネジ3.18 SET SCREW, W/SOCKET SM3.18X4
30 SB4211101 1 ソレノイドリンク SOLENOID LINK

T-8722D-405
40

T-8722D



T-8422D-405

45

R. (T-8422D) / Thread wiper mechanism (T-8422D)

29

15

27

16

17 17

26

21 25
19 24

28

20

28

22

29

24

25

18

23

3

12

14

11

10

13

30

8

1

6 7

T-8421D / T-8422D



R. 糸払い関係 （T-8422D） / Thread wiper mechanism (T-8422D)

REF.NO CODE Q'TY 品名 NAME OF PARTS RM

1 SB9910001 1 イトハライソレノイドクミ THREAD WIPER SOLENOID ASSY

3 SA7235001 1 ソレノイドクツシヨン CUSHION SOLENOID

6 062300616 2 ナベコ3X6 SCREW PAN M3X6
7 026030233 2 ヒラザガネミガキ3 WASHER PLAIN M 3
8 SB4155001 1 バンド BAND

10 SB4105001 1 ソレノイドホジイタ SOLENOID HOLDING PLATE
11 SB4104001 1 ソレノイドカバ- SOLENOID COVER
12 060400516 2 バインド4X5 SCREW BIND M4X5
13 062501016 2 ナベコ5X10 SCREW PAN M5X10
14 S25456001 1 プランジヤピン PLUNGER PIN
15 SB4333101 1 イトハライリンククミ THREAD WIPER LINK ASSY
16 SB4213101 1 イトハライリンクササエ THREAD WIPER LINK SUPPORT
17 SB7015001 1 イトハライリンクCクミ THREAD WIPER LINK C ASSY
18 S07550001 1 リンクジク LINK STUD
19 SA2504001 1 セツトカラ- SET SCREW COLLAR
20 012500536 2 アナヒラ5X5 SET SCREW SOCKET (FT) M5X5
21 SB4210001 1 ストツパ STOPPER
22 062500816 2 ナベコ5X8 SCREW PAN M5X8
23 SB3849001 2 ヒラザガネチュウ5 WASHER_PLAIN_M_5
24 S07552101 2 イトハライウケ THREAD WIPER SUPPORT
25 062661212 2 ナベコ318-40X12 SCREW PAN SM3.18-40X12
26 SA2684001 1 イトハライバネ THREAD WIPER SPRING
27 062501016 2 ナベコ5X10 SCREW PAN M5X10
28 SB4124001 2 イトハライ THREAD WIPER
29 S07424001 2 トメネジ3.18 SET SCREW, W/SOCKET SM3.18X4
30 SB4211101 1 ソレノイドリンク SOLENOID LINK

T-8422D-405
46

T-8421D / T-8422D


